Fun data 2009-2 second semester

quiz 3 sum three

id quiz 1 quiz 2 raw quizes
4931431921 10 10 6 26
5131203721 12 10 5 27
5131228421 6 10 12 28
5131232921 12 9 4 25
5131233521 12 10 12 34
5131239321 12 9 12 33
5131247321 6 0 8 18
5131262721 7 6 6 19
5131276521 12 7 7 26
5131280021 10 9 7 26
5131288021 12 10 12 34
5131309621 8 9 7 24
5131313021 6 0 10 21
5131319921 12 11 8 31
5131325621 8 7 5 20
5131345121 12 6 8 26
5131350221 12 11 8 31
5131351921 6 10 8 24
5131374321 4 6 6 16
5131378921 11 0 11 27.5
5131411921 6 0 10 21
5131422821 12 10 8 30
5131455521 2 10 8 20
5131460621 7 0 6 16
5131468721 7 8 8 23
5131469321 6 9 8 23
5131470921 6 0 8 18
5131484721 12 0 8 24
5131491021 6 0 8 18
5131492721 ? 0 7 10.5
5131494021 6 0 6 15
5131508121 12 0 10 27
5131519021 7 7 10 24
5131527021 12 5 12 29
5131530921 6 0 4 12

average 8.48 8.59 8.08

Quiz 3 net score is calculated (raw * 18/12) for students who got zero from quiz 2.
The pass score is 40% therefore, sum of three quizzes should be 12*3*0.4 = 14.4
Anybody who gets the score less than 15 now is running a risk of failing this class.
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